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BR5EH B Mr=s| BHiff | BE| €8 | & | €8 | WE | 4 &=
AR1B|7RNGHR (IR 100 50 5,000 0 50 5,000
4838 |4Fd % 200 92| 18,400 0 92 18,400
4R3B|T7RNTGHR IR 100 32| 3,200 0 32| 3200
4868 |4Fd % 200 69| 13,800 0 69 13,800
4H6H [faEYoIR W 600 50| 30,000 0 50 30,000
4878 [RIFYoIR Wi 600 71| 42,600 46 | 27,600 25| 15,000
4H8H [IFYoIR Wi 600 40| 24,000 8 4,800 32| 19,200
4A8H[TRNSHR IR 100 44| 4,400 32 3,200 12| 1,200
481084 FT B 200|  104| 20,800 104 | 20,800 0 0
48108 |RIEY S8R Wi 600 8| 4,800 8 4,800 0 0
48138[4FT Fx 200 70 14,000 40 | 8,000 30[ 6,000
4138 [T RINSHR IR 100 39] 3,900 0 39] 3,900
48148 |RIFYoIR WhE 600 14| 8,400 0 14| 8,400
48158 |RIEY S8R Wi 600 14 8,400 11 6,600 3] 1,800
48168 |1alEY SR WhE 600 3] 1,800 3 1,800 0 0
481784 F3T % 200 90| 18,000 0 90[ 18,000
48208 |4F3 Fx 200 71| 14,200 0 71| 14,200
4228 [TRINSHR IR 100 37] 3,700 0 37| 3,700
48248 |4F3 Fx 200 61] 12,200 0 61] 12,200
48278[4F3 % 200 48| 9,600 0 48[ 9,600
4R28B[7RNNFGHR |RE 100 26| 2,600 0 26| 2,600
&t 263,800 77,600 186,200
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fR5EH B Mir=Es| Bl | 8 | 4 | KE | %5 | BE | £ &%
5A1B|/4FT S 200 95| 19,000 0 95| 19,000
5H25B|/INER(HD | BE 100 19 1,900 0 19| 1,900
5A25B|/NER(D [BFE 200 11] 2,200 0 11] 2,200
58278 [/NERAS Fx 100 8 800 0 8 800
5A27B/NER(H [BFE 200 18] 3,600 0 18] 3,600
&t 27,500 0 27,500




6 A 715AERFEAER
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fR5EH i B Mz Hifi | 2| £5 | 85 | £% | = | 28 &%
6A1H|FAvay— |BXx 150 | 20| 3,000 20 3,000 0 0
6A3H|7AvaY— |HE 150 15[ 2,250 14| 2100 1 150
6858 |X(H B 400| 66| 26,400 43| 17,200 23| 9,200
6 A58 |RAH Fx 500| 28| 14,000 28 | 14,000 0 0
6A5H|7Avay— |BXxE 150) 43| 6,450 33| 4,950 10[ 1,500
6388 |RAH Fx 400| 54| 21,600 30 | 12,000 24| 9,600
6H8H| XA B 500( 73| 36,500 73 | 36,500 0 0
6A8H|FAvaY— |HE 150/ 39| 5,850 29 | 4,350 10[ 1,500
6898 | XA B 400| 61| 24.400 32 | 12,800 29| 11,600
698 |RAH S 500( 63| 31,500 63 | 31,500 0 0
68108 |FOyay—  |FE 150 13[ 1,950 0 13| 1,950
6108 |XMAH Fx 400 9] 3,600 0 9] 3,600
68108 |R(H B 500 31| 15500 0 31| 15,500
6A11B|RAAH BFx 400[ 28] 11,200 21 8,400 7| 2,800
6811B|R(H B 500( 34| 17,000 34 | 17,000 0 0
68128 |Javay—  |HE 150) 21| 3,150 19| 2850 2 300
68128 |R(H B 400 10[ 4,000 0 10[ 4,000
68128 |RMAH S 500| 72| 36,000 49 | 24,500 23| 11,500
68158 |Fayay—  |FE 150 10[ 1,500 0 10[ 1,500
68 18H|RMAH BFx 400 12| 4,800 12| 4,800 0 0
68188 |R(H B 500 6| 3,000 6| 3,000 0 0
68198 |Jovay—  |HE 150/ 20{ 3,000 20| 3,000 0 0
68198 |RMH B 400 17| 6,800 17[ 6,800 0 0
6198 |RMAH BFx 500 19 9,500 19 9,500 0 0
68228 |R1H B 400 12| 4,800 12| 4,800 0 0
68228 |XMAH Fx 500 8| 4,000 8| 4,000 0 0
68238 |RMH B 400] 23| 9200 21| 8,400 2 800
6 823H XM BFx 500 12| 6,000 12| 6,000 0 0
6H248|X1AH Fx 400 35| 14,000 35 14,000 0 0
6 824H|X1AH BFx 500/ 33| 16,500 33| 16,500 0 0




36, — iR E T ERTE

15N E IRFE(ES)

fR5EH = MzeEs| B E| &8 | ¥E | ¥ | = | &% &%

68258 |RM1AH S 400 17| 6,800 2 800 15[ 6,000
68258 |R(H B 500( 40| 20,000 22| 11,000 18] 9,000
6H26H|XMAH S 400| 49| 19,600 33| 13,200 16| 6,400
68268 |R(H B 500( 87| 43500 79| 39,500 8| 4,000
6826H|S=k<k S 200| 35| 7,000 34| 6,800 1 200
68268 |7ARNSHR  |IRE 100 29| 2,900 29| 2,900 0 0
6 829H|XMAH S 400 21| 8400 7| 2,800 14| 5,600
68298 |RMH B 500( 34| 17,000 34| 17,000 0 0
6829H |7 R/INSHR  |IBiE 100/ 37| 3,700 33| 3,300 4 400
6H30H[Z=F<F Fx 200 40| 8,000 2 400 38] 7,600

&t 484,350 369,650 114,700
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fR5EH i B Mz Hifi | 2| £5 | 85 | £% | = | 28 &%
TRH1B|7RANSAR  |IRE 100 14 1,400 14| 1,400 0 0
TH1B[RMAH B 400| 26| 10,400 10 | 4,000 16| 6,400
TA1B|RALH B 500( 23| 11,500 23 | 11,500 0 0
7H28|FR R 100 13[ 1,300 13| 1,300 0 0
7H2B|RAAH B 400| 82| 32,800 57 | 22,800 25| 10,000
1H2B[RMA S 500(  103| 51,500 103 | 51,500 0 0
TH3B|7ARNSHR  |IRE 100 15| 1,500 15 1,500 0 0
7H3B|S=F<hk S 200( 36| 7,200 21 4,200 15[ 3,000
7A3B|RAH B 400| 42| 16,800 12| 45800 30| 12,000
7A3H[RAA S 500( 78| 39,000 41| 20,500 37| 18,500
7868 |E—<> RiE 100 7 700 7 700 0 0
TA6B[ZRNSHR |BiE 100] 31| 3,100 24 | 2,400 7 700
7H6B|FR R 100[ 24| 2400 18| 1,800 6 600
1H6H[RMAH S 400 20| 8,000 8| 3200 12| 4,800
TH6B|RXAH B 500( 88| 44,000 48 | 24,000 40| 20,000
1A7H[RMAH S 400 13| 5,200 4| 1,600 9] 3,600
TATB|RAH B 500( 26| 13,000 18| 9,000 8| 4,000
7H8A|S=F<hk Fx 200| 59| 11,800 27| 5,400 32| 6,400
TH8B|7ARNSHR  |IRE 100 21] 2,100 13| 1,300 8 800
7H9H[RAA S 400 6] 2400 5| 2,000 1 400
TH9B|RAH B 500 61| 30,500 39| 19,500 22| 11,000
798 [FXR R 100 11] 1,100 11] 1,100 0 0
THIR|RA—ba—> [IREE 200] 92| 18,400 65| 13,000 27| 5,400
7H10B(R4—ba—> IR 200[ 107/ 21,400 34| 6,800 73| 14,600
7108 |3=Fb Fx 200 34| 6,800 11] 2,200 23| 4,600
7A10B|FR/INSHR  [1BiE 100 14| 1,400 14 1,400 0 0
TH13H|ZANSHR  |IRE 100 25| 2,500 23| 2,300 2 200
7H138| R4 A S 400 12| 4,800 2 800 10[ 4,000
7R13H(X4H B 500 39| 19,500 24| 12,000 15[ 7,500
TH13B[RA—ba—> IR 200| 82| 16,400 46 9,200 36] 7,200




25, — kM BRSE [ BN E BRFE(ES)

AR5 H 1= Mize=Ea| Bifi | HE| 56 | 88 | £% | = | €8 &%
7A138|FR R 100 15[ 1,500 13[ 1,300 2 200
7B13H|E—<> R 100 10/ 1,000 9 900 1 100
TH14B (R4 A S 400 5 2,000 4| 1,600 1 400
7R14H[(X4H B 500 42| 21,000 22| 11,000 20| 10,000
7A148|S=k<E S 200[ 40| 8,000 21| 4,200 19 3,800
TRI5H|7ANSHR  |IRE 100 13| 1,300 13] 1,300 0 0
7A158|759x7 W 250 17] 4,250 17] 4,250 0 0
7R16H[(XMH B 400 7| 2.800 1 400 6] 2400
TH16H[RMH BFx 500( 26| 13,000 20| 10,000 6] 3,000
TR17H[(R4H B 500 7| 3500 7| 3500 0 0
7A17B|S=k<E BFx 200[ 55| 11,000 17[ 3,400 38| 7,600
78208 |3=HF<b Fx 200 53| 10,600 15| 3,000 38| 7,600
1A228|759x7 BWE 250 70| 17,500 70| 17,500 0 0
TH21H|7ANSHR  |IRE 100 13| 1,300 13] 1,300 0 0
TH30H [V TyRDAYTESE 200 27| 5,400 7| 1,400 20| 4,000
78308 |E4A—*x W 500 33| 16,500 23| 11,500 10| 5,000
&t 509,550 319,750 189,800
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55, — R TS

B A B E5)

Rz H B Bin=s| B | %8| #% | BE | 28 | #HE | =8 =
8H4B|EA—* e 500 30| 15,000 0 30| 15,000
8A5H ([ TyRD Y |TEE 200 17[ 3,400 0 17/ 3,400
8H6B|EA—* e 500 49| 24,500 0 49| 24,500
8H7H [FHK e e 300 13/ 3,900 0 13| 3,900
8ATH|BESPH | 300 89| 26,700 0 89 26,700
8ANH|EA—= Wi 500 18[ 9,000 0 18/ 9,000
8A11H|EEPhH | 300 75| 22,500 0 75 22500
8H11H|F#HK e e 300 36| 10,800 0 36/ 10,800
8RB Y TYRYAY |TEE 200 69| 13,800 0 69| 13,800
8H12H|EA—= Wi 500 29| 14,500 0 29| 14,500
8A178|EE i 200 16| 3,200 0 16| 3,200
8H18H|EI% Wi 500 36| 18,000 0 36/ 18,000
8H18H|[3EK el 300 42| 12,600 0 42| 12,600
8H21H|FEK e e 300 75| 22,500 0 75| 22,500
8H21H[EA—* E 500 24| 12,000 0 24| 12,000
8218 |RAAY—Tq4V K 600 27| 16,200 0 27| 16,200
8H24H|aE— b 600 12| 7,200 0 12| 7,200
8H24B | ¥ AR RAAVE (R 600 29[ 17,400 0 29 17,400
8H24H[3FEK EEl 300( 139] 41,700 66 | 19,800 73| 21,900
8H25H %K e e 300 6] 1,800 6 1,800 0 0
8H25H |20 Rt 300( 141[ 42,300 50 | 15,000 91| 27,300
8H26H|[H20V8® e e 300 44| 13,200 27 8,100 17/ 5,100
8H26H [BAE Rt 300 46| 13,800 15 4,500 31| 9,300
8H27H|EDOU® e e 300 31| 9,300 17 5,100 14 4,200
8H28H [FAE Rt 200 93| 18,600 26 5,200 67| 13,400
8H28H|;7H et 300 28| 8,400 19 5,700 9] 2,700

&t 402,300 65,200 337,100
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fR5EH i B Mire=Es| Bifi | HE| 5 | 88 | £% | = | €8 ke
9A1B[X—R)L0—X [HE 500 3] 1,500 0 3] 1,500
9A1B | YAV RAVNE 600 5/ 3,000 0 5[ 3,000
9A1B|RRAY/D— I E 500 4] 2,000 0 4] 2,000
9R2B[FUT A4 |FE 100 14| 1,400 14 1,400 0 0
9A28 |#HR ESE 200] 47| 9,400 20 | 4,000 27| 5,400
9A28 |FHR Rt 400|  220| 88,000 117 | 46,800 103| 41,200
9A3HE | ¥ AURAAVNE 600 48| 28,800 24 | 14,400 24| 14,400
9A3H[arE— BE 600 10| 6,000 8| 4800 2| 1,200
9A4B |FHR Eil 400|  129] 51,600 0 129] 51,600
9ATR | YAV ROV E 600| 58| 34,800 32 | 19,200 26| 15,600
9A8H | ¥ AURAAVNHE 600[ 25| 15,000 21| 12,600 4] 2400
9A9IR|MHR Rt 400 60| 24,000 30 [ 12,000 30[ 12,000
9A9H [FH R et 800 11| 8,800 0 11| 8,800
9A9R|FHR Rt 400 42| 16,800 34| 13,600 8| 3,200
9AIH[X—R)LO—X [HE 500 11[ 5,500 10| 5,000 1 500
9A9R |RRAYR/D—IIE 500 14| 7,000 12| 6,000 2| 1,000
9A9R|EZ LN Eil 400|  65[ 26,000 26 | 10,400 39| 15,600
9A10B |HR Rt 400 2 800 2 800 0 0
9108 [ Y1 RAAVIE 600[  30] 18,000 13| 7800 17[ 10,200
9A 108 [akrE— e 600 15) 9,000 6| 3600 9] 5400
IANB[ YA RAAVIE 600 19[ 11,400 13| 7800 6] 3,600
9A1B|EA—F W 500 17] 8,500 9| 4500 8| 4,000
9ANB|MHR EH 400| 42| 16,800 0 42| 16,800
9A14B |BEHR Rt 800 20| 16,000 20 | 16,000 0 0
9148 [/NERAAH Fx 100 6 600 6 600 0 0
98148 |/NEZX(H B 200 18] 3,600 18| 3,600 0 0
9A148 | HR el 400 9] 3,600 8| 3200 1 400
9A15H|FHER Rt 400 67| 26,800 31 [ 12400 36 14,400
9158 [ Y1 RAVIE 500( 20| 10,000 16 | 8,000 4] 2,000




26, —R&A (T BR5E | 15 MBS BRFE(ES])

IR5EH i B Mz Hifi | 2| £5 | 85 | £% | = | €8 &%
9A15H|ZR=IM(—> |BE 400 28| 11,200 3 1,200 25 10,000
9B 158[/NERMAH Fx 100/ 23| 2,300 0 23| 2,300
98158 |/NEZX(AH B 200( 23| 4600 2 400 21| 4,200
9A 168 [fHR Eil 400| 94| 37,600 39 | 15,600 55| 22,000
9A16H|TovIE—F |BE 400 24| 9,600 20 [ 8,000 4| 1,600
9A17B [ Y1 RAAVIE 500( 36| 18,000 15| 7,500 21| 10,500
9A17TH|MHER Rt 800 22| 17,600 8 6,400 14| 11,200
9ATH[E et 300 18] 5,400 14| 4,200 4] 1,200
9188 |#&iE W 400 29[ 11,600 26 | 10,400 3| 1,200
9A23H|RMAH B 400 14| 5,600 4| 1,600 10[ 4,000
9H238[RMA B 500( 28| 14,000 18 | 9,000 10[ 5,000
9238 [ IR RAVIE 500( 21| 10,500 14| 7,000 7| 3,500
9H23H[aRE— e 500 17| 8,500 16 | 8,000 1 500
9A248|REF et 100] 31| 3,100 8 800 23| 2,300
9A248 |BHR e 400  126] 50,400 53 [ 21,200 73| 29,200
9A258 |MAHR et 800 11| 8,800 0 11| 8,800
9A28H [F¥AY B 150] 88| 13,200 35| 5250 53| 7,950
9F308[Favyal— BFx 150 11[ 1,650 11 1,650 0 0
&t 688,350 326,700 361,650
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fR7EH i B Mize=a| Bifi | HE| 56 | 88 | £% | = | €8 &%
10428 |7Ayal— BFx 150 16 | 2,400 16| 2,400 0 0
10A28 |F ¥Ry B 150) 83| 12,450 40| 6,000 43| 6,450
108508 |$E e 300[  105| 31,500 96 | 28,800 9] 2,700
10858 |7 ayal— B 150) 26| 3,900 26 | 3,900 0 0
10858 |FvRY BFx 150) 98| 14,700 36 | 5400 62| 9,300
10878 |/NEXAH B 100] 35| 3,500 35| 3,500 0 0
1078 |/NERAA i 200 27| 5,400 27| 5,400 0 0
10878 |7Oyal— B 150 5 750 5 750 0 0
10A78|E—<> R 100 16/ 1,600 13| 1,300 3 300
108 9H [#EAER S 400 42| 16,800 0 42| 16,800
10898 |#BAER et 800 10[ 8,000 0 10[ 8,000
10898 |/NEXAH B 100] 22| 2,200 6 600 16 1,600
10898 |/MERAH BFx 200 18] 3,600 18| 3,600 0 0
10A9H |Fv¥RY B 150] 96| 14,400 47| 7,050 49| 7,350
1098 |2 TyiRm A |TEE 200( 21| 4,200 12| 2400 9] 1,800
108 128|/NEZXAAH B 100] 46| 4,600 11 1,100 35| 3,500
10A12B[/NERMAH Fx 200| 39| 7,800 39| 7,800 0 0
108128 |Fayal— B 150 19[ 2,850 19| 2850 0 0
108128 [F¥AY BFx 150) 89| 13,350 33| 4,950 56| 8,400
108138 [F ¥y B 150 11[ 1,650 6 900 5 750
108148 [F¥ARY Fx 150 71 1,050 7 1,050 0 0
108148 |7 ayal— B 150) 35| 5250 23 | 3450 12| 1,800
105148 | E#k AR 300 35/ 10,500 32| 9,600 3 900
108148 |#EAER Rt 400  121] 48,400 88 [ 35,200 33[ 13,200
10A 148 [#EAER EEl 800 15[ 12,000 0 15[ 12,000
108158 |/NEZXAH e 200 8| 1,600 0 8| 1,600
10A 16 8 [#EAER EEl 400| 41| 16,400 0 41| 16,400
108168 [F ¥ e 150] 40| 6,000 22 | 3,300 18] 2,700
108168 |70val)— Fx 150 17| 2,550 17 2,550 0 0
108198 |#EAER Rt 400  266] 106,400 146 | 58,400 120 48,000
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gR7EH i B Mz Hifi | 2| £5 | 85 | £% | = | 28 &%
108198 [F ¥y B 150) 83| 12,450 28 | 4,200 55| 8,250
108198 (7 8yal— Fx 150/ 20 3,000 20 | 3,000 0 0
108200 [#EAER S 400 64| 25,600 55 | 22,000 9] 3,600
108208 [F¥RY Fx 150 1 150 1 150 0 0
108218|E—<> R 100 27| 2,700 7 700 20[ 2,000
108228 [543~ R 50| 22| 1,100 16 800 6 300
108228 |2 TyR A |TEE 200 8| 1,600 0 8] 1,600
108228 [BFk AR 300 44| 13,200 27| 8,100 17| 5,100
10H 238 &k AR 300 18| 5,400 14| 4,200 4| 1,200
104238 [#EAER et 400  118| 47,200 39 | 15,600 79| 31,600
108238 | Rt 300] 132| 39,600 75| 22,500 57| 17,100
108238 [F¥AY Fx 150) 70| 10,500 21 3,150 49| 7,350
104238 |7 ayal— B 150) 21| 3,150 21 3,150 0 0
104268 |FE el 300] 28| 8,400 28 | 8,400 0 0
104268 |7ayal)— B 150 8] 1,200 8| 1200 0 0
104268 [F ¥~ BFx 150) 35| 5,250 14| 2,100 21| 3,150
108278 |[F ¥y B 150 4 600 4 600 0 0
108278 (7 8yal— S 150 13[ 1,950 13| 1,950 0 0
108278 |#EAER S 400 82| 32,800 39 [ 15,600 43| 17,200
108278 |#E AR 200( 27| 5400 22 | 4,400 5[ 1,000
108288 |F=E AR 200 16| 3,200 14| 23800 2 400
104288 |FE et 600 44| 26,400 10| 6,000 34| 20,400
108288 |#EAER Rt 400 82| 32,800 42 | 16,800 40[ 16,000
108298 [ = AR 200 7| 1,400 5| 1,000 2 400
108298 | Rt 600 15| 9,000 15| 9,000 0 0
104298 [#EAER et 400| 62| 24,800 40| 16,000 22| 8,800
108308 [/\9H4 RiE 200] 20| 4,000 20 | 4,000 0 0
108308 (7 Oyal— S 150) 41| 6,150 21 3,150 20| 3,000
108308 [F¥AY B 150) 39| 5,850 17| 2550 22| 3,300
& 700,650 385,350 315,300
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BR5EH m B Mr=s| BHifi | BE| €8 | 8E | €8 | ¥ | &4 &=
11A2H|FvAY Fx 150 45 6,750 8| 1,200 37| 5550
1128 | K e e 200 25 5,000 0 25 5,000
11A28|E—<> RiE 100 37 3,700 9 900 28| 2,800
11828 |70yay— Fx 150 86 | 12,900 8] 1,200 78| 11,700
1148 |FEE el 200 [ 134 [ 26,800 50| 10,000 84| 16,800
A4 TyRD Y |TEE 200 11 2,200 0 11 2,200
11A48|78ya)— xR 150 50| 7,500 33| 4950 17] 2,550
11H5H [#Fr#X AR 200 61| 12,200 58 | 11,600 3 600
11A6H[RFYY Y (A=3 200 9] 1,800 0 9] 1,800
11A68|70vyal)— Fx 150 56| 8,400 30 4,500 26| 3,900
11A98|7Rayal)— Fx 150 70/ 10,500 35 5,250 35| 5250
11A9B | F#%E AT 250 70| 17,500 44 | 11,000 26| 6,500
11108 [a<YF xR 100 65| 6,500 29 2,900 36/ 3,600
HANH[ERE Fx 100/ 125| 12,500 39 3,900 86| 8,600
AN H|[Zayal)— B 150 25| 3,750 24| 3,600 1 150
11A11B[RkYY =3 200 19| 3,800 7 1,400 12| 2,400
11A128 | KX AR 300 50 | 15,000 32 9,600 18] 5400
A12B|;RAR4E AR 300 50 [ 15,000 24 | 7,200 26/ 7,800
1HA12B[YRE R 200 45 | 9,000 0 45 9,000
HA12B[EBRFE Fx 100 57| 5,700 17 1,700 40| 4,000
11128 [a=YF B 100 31/ 3,100 11 1,100 20[ 2,000
MA13H[ERF Fx 100 98| 9,800 9 900 89| 8,900
1113 [a<YF xR 100 4 400 4 400 0 0
118138 |7ayal)— Fx 150 36| 5,400 0 36| 5,400
11A138|FvAY RiE 150 24| 3,600 11 1,650 13[ 1,950
11138 |RkyY =3 200 23| 4,600 10| 2,000 13| 2,600
11A138|#EE it 200 61| 12,200 0 61] 12,200
118168 |7 0yal— Fx 150 49| 7,350 17 2,550 32| 45800
11A178|RkyY EE 200 20 4,000 8 1,600 12| 2,400
HA17TH|RARAE AR 300 50[ 15,000 40 | 12,000 10| 3,000
118178 | H# AR 200 50| 10,000 34 6,800 16/ 3,200
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BR5EH m B Mr=s| BHifi | BE| €8 | BE | 8 | ¥ | £4 k=
11A18HA|EH e 200 22| 4,400 10| 2,000 12| 2,400
11A18H|[iRIMIH> R 8 200 33[ 6,600 0 33| 6,600
11A18H[ExR¥ Fx 200 41| 8,200 29 5,800 12| 2,400
118188 |7 0yaly— Fx 150 25| 3,750 14 2,100 11/ 1,650
111983 el 200 58| 11,600 0 58| 11,600
11A198|BR¥ Fx 200 45| 9,000 18 3,600 27| 5,400
11A198|RkyY EE 200 13| 2,600 1 200 12| 2,400
11208 |4FT B 300 14| 4,200 14| 4,200 0 0
11H208[HxR¥ Fx 200 70| 14,000 19 3,800 51| 10,200
118208 |7 0yaly— Fx 150 31| 4,650 12 1,800 19/ 2,850
115208 |RkvY EE 200 17| 3,400 6 1,200 11] 2,200
118208 | K# AR 300 82| 24,600 52 | 15,600 30[ 9,000
11H208 | E# e 400 98| 39,200 73 [ 29,200 25 10,000
118208 |E# R 500 26| 13,000 0 26/ 13,000
118248 |780val)— B 150 67/ 10,050 14| 2100 53| 7,950
11R24B8[(4F3 i 300 45| 13,500 27 8,100 18] 5400
11H248|RHEAS AR 300 86/ 25,800 41| 12300 45 13,500
11H26H|EH e e 200 79| 15,800 32 6,400 47| 9,400
11H26H|RkvY EE 200 22| 4,400 4 800 18] 3,600
11A278[4F3 i 300 37/ 11,100 20 [ 6,000 17] 5,100
11827H[RER AR 300 27| 8,100 13 3,900 14| 4,200
118278 | KRR AT 300 60| 18,000 15 4,500 45| 13,500
11H278|78vyal— B 150 53| 7,950 14| 2100 39| 53850
118278 |RkvY V(43 200 13[ 2,600 0 13| 2,600
11H30H|7avyal— B 150 29 4,350 14| 2100 15| 2,250
11H308[4FT i 300 27[ 8,100 25 7,500 2 600
&t 540,900 235,200 305,700
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IR5EH =B Mz Bifi | HE| $5 | BE | £ | HE | =8 &%
12818 |Rkv% jeE 200 5| 1000 4 800 1] 200
12838 [RkvY (A3 200 9] 1,800 0 9] 1,800
12848 |4Fd i 300 75| 22,500 36 | 10,800 39| 11,700
12848 |78yaY)— % 150 57| 8,550 24 3,600 33[ 4,950
12848 (B AR 200 33| 6,600 16 | 3,200 17[ 3,400
12848 |fE#FT AR 200 18] 3,600 18| 3,600 0 0
12878 |4Fd i 300 90| 27,000 50 | 15,000 40| 12,000
1278 |8+F¥ e 100] 37| 3,700 12| 1,200 25| 2,500
128787 oyaly— B 150 18] 2,700 2 300 16] 2400
12A7H|[5E AR 200 4] 800 4 800 0 0
12H8H|RXkvY VA= 200 12| 2,400 3 600 9] 1,800
12A88 |8+ e 100 73] 7,300 3 300 70| 7,000
1298 |8+ Fx 100 44| 4,400 9 900 35 3,500
12498 |7ayal)— X 150 11] 1,650 0 1] 1,650
12898 |{EfHFR AR 200 80[ 16,000 55 [ 11,000 25| 5,000
12A108|E8R¥ 2 100 26| 2,600 7 700 19[ 1,900
1281187 oyay— B 150 13[ 1,950 0 13[ 1,950
12N B[(4FT Fx 300 90[ 27,000 35| 10,500 55 16,500
128 118 [TEfHFER AR 200 65 13,000 63 [ 12,600 2 400
124148 |7 @yal— X 150 9] 1,350 0 9] 1,350
128148 |4F3 i 300 74| 22,200 28 | 8400 46| 13,800
128 14H [{EHHAR AR 200 70| 14,000 39 | 7.800 31| 6,200
128158 [Ryo EE 200 18] 3,600 0 18] 3,600
127188 [RkyY £z 200 10[ 2,000 10| 2,000 0 0
128188 |/4Fd i 300 62| 18,600 32| 9,600 30| 9,000
127188 [LEV R 200| 40| 8,000 0 40| 8,000
128218 |/4F3 i 300 39| 11,700 31 9,300 8| 2400
12A218[RkyY (=3 200 4] 800 0 4 800
128228 [RbyY €S 200 5| 1,000 2 400 3 600
128228 |8+ ¥ X 200 41| 8,200 15| 3,000 26| 5,200
128238 [ F Fx 200 70[ 14,000 28 5,600 42| 8,400




5., —HE A (48R 5E [ 15 P88 8 BRFEGES D

AR5 H B Mir=a| Bfifi | HE| S5 | BE | £F | HE | 28 EE
127238 [LEV R 200/ 80| 16,000 32| 6400 48| 9,600
128248 (B F Fx 200 94| 18,800 8 1,600 86| 17,200
127258 (R kY it 200 32| 6,400 32| 6400 0 0
127258 |4Fd i 300 51| 15300 45| 13,500 6| 1,800
128258 |BRF e 200 23| 4,600 0 23| 4,600
12A288|/4Fd i 300 56| 16,800 0 56| 16,800
12828H | B+ e 200 36/ 7,200 0 36| 7,200
&t 345,100 149,900 195,200




1A 25 RERFTAR

>b. —#&@E I+ BR5E

15N IRFE(ES)

fR5EH B M= Bffi| S | 56 | 88 | £% | HE | €8 ke
1R48(4F3 Fx 300 45 | 13,500 0 45| 13,500
1848|780yay— B 150 15 2,250 0 15| 2,250
158 [RkyY (=3 200| 20| 4,000 7| 1,400 13[ 2,600
1AS5H[EBRF Fx 200 30| 6,000 4 800 26| 5,200
1R78[RkyY (A3 200 9] 1,800 0 9] 1,800
1A8A[/4FT i 300 25| 7,500 0 25| 7,500
1128 |4F3d B 300[  40[ 12,000 36 | 10,800 4] 1,200
18128 [RkvY biA=3 200 8| 1,600 7 1,400 1 200
1158 [RkvY (A3 200 18] 3,600 10| 2,000 8| 1,600
1158 |4Fd i 300 51| 15,300 32| 9,600 19] 5700
1188 |4(Fd Fx 300| 45| 13,500 20| 6,000 25| 7,500
1198 |&XkvY VA= 200 6| 1,200 0 6] 1,200
18228 |70y3al)— X 150] 21| 3,150 0 21| 3,150
18228 |4Fd i 300 57| 17,100 28 | 8,400 29| 8,700
18228 [RkvY = 200 6] 1,200 2 400 4 800
18258 (Joyaly— i 150] 23| 3,450 0 23| 3450
18258 |4F3d X 300| 56| 16,800 31 9,300 25| 7,500
18268 |&XkvY EE 200 14| 2,800 7 1,400 7] 1,400
1H26H[B+F¥ B 200| 51| 10,200 8| 1,600 43| 8,600
18288 (Joyal— i 150] 66| 9,900 30 | 4500 36| 5,400
18298 |4Fd X 300[ 106/ 31,800 81| 24,300 25| 7,500
&t 178,650 81,900 96,750




2 A 5 RAERFERER

35, — kAT HRE

15N IRFE(ES)

HR5EH m B MrEs| Hifi | E| €% | BE | % | 5 | £4 &%
2818 |3a<v+ Fx 100 82 8,200 27| 2700 55/ 5,500
2A1B[4F3 Fx 300 69| 20,700 33 9,900 36| 10,800
2A18(ZOyal— Fx 150 40| 6,000 18 2,700 22| 3,300
2H18| RS 1= 200 10[ 2,000 8 1,600 2 400
2828 |a<vy+ Fx 100 48| 4,800 4 400 44 4400
2A38|a=yF B 100 61/ 6,100 11 1,100 50/ 5,000
2A58|4Fd B 300/ 107| 32,100 76 | 22800 31] 9,300
2A58(ZOvay— B 150 45 6,750 13 1,950 32| 43800
2888 |a%Y+ Fx 100| 167| 16,700 63 6,300 104| 10,400
2R8H[(4FT Fx 300( 105[ 31,500 72 | 21,600 33| 9,900
2H98|RkYY V(43 200 12[ 2,400 0 12| 2,400
2108 |8 Fx 200 39| 7,800 0 39| 7800
2A128[(4FT B 300/ 117] 35,100 84 [ 25200 33[ 9,900
2A128 (7 Eyal)— B 150 95| 14,250 34| 5100 61| 9,150
2B158|a< Y+ Fx 100| 151] 15,100 48 | 4,800 103| 10,300
2158 |4F3 Fx 300( 121| 36,300 80 | 24,000 41| 12,300
2H16H| Ay = 200 5| 1,000 0 5/ 1,000
2A178[FEyal)— B 150 42| 6,300 8 1,200 34| 5,100
2178 |8 Fx 200 39| 7,800 8 1,600 31| 6,200
2A18H |7 Oyal)— xR 150 40| 6,000 0 40[ 6,000
2R198[(4FT B 300/ 106| 31,800 88 | 26,400 18] 5400
2198 |8 Fx 200 51| 10,200 40 8,000 11 2,200
2A228[4FT B 300 71 21,300 51 [ 15,300 20[ 6,000
28228 |78val)— Fx 150 7] 1,050 0 7] 1,050
2228 |83 Fx 200 13[ 2,600 0 13 2,600
2A248 (7 Oyal)— B 150 77| 11,550 29| 4,350 48| 7,200
2268 [4FT i 300 79[ 23,700 45 | 13,5500 34/ 10,200
&t 369,100 200,500 168,600




3R T ERIRFTRER

26, —#kmE [ BRE | 15 P S BRFE(ZESD

HR5EH m B Mr=Es| Hifi | 8| €% | 8E | % | 5 | £4 &5
3A1H[(4Fd B 300 65| 19,500 49| 14,700 16| 4,800
3R4H(ZOvay— B 150 31 4,650 19] 2,850 12| 1,800
3A5SA|A4Fd B 300 | 113 [ 33,900 94 28,200 19| 5700
3A8H[AFT Fx 300 76 | 22,5800 54| 16,200 22| 6,600
3ANH|Zayal— Fx 150 55 8,250 16 2400 39| 5850
3A12H|4FT Fx 300 [ 100 [ 30,000 81| 24,300 19/ 5,700
3A15E[4FT B 300 57 17,100 54 16,200 3 900
3A19H|A4FT Fx 300 51| 15,300 43 | 12,900 8| 2400
3A19H |7 ayal— Fx 150 12[ 1,800 0 12[ 1,800
3A228[4FT xR 300 32| 9,600 32 9,600 0 0
3228 (ZOyal)— Fx 150 14 2,100 14 2,100 0 0
& 165,000 129,450 35,550




